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1. ofe fl emcae ed fri/ww Seddh AR
et : 1x5=5
Answer the following questions/Choose the
correct answer :

(@) MGNREGA-T 5= Feich1 2
What is the full form of MGNREGA?
(b) IRDP-T b1 Sraey foran |
State one objective of IRDP.
(c) @F 5T IR @R QS SIS C2fRe 2
In which year Jawahar Rozgar Yojana

was started?
() 1988 : (i) 1989
(iij) 1990 . ' (iv) 1991
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(@ @WWWWWWWW?

In which year National Rural Health B
Mission was started? : B '

i) 2004 ‘ (i) 2005
(i) 2006 (iv) 2007

(e) Q@ ID-7Rm ARTTATTE FfowS aW
FRGE @S a6 F]1 03Re 2

In which Five-Year Plan, the Swarna

Jayanti Gram Swarojgar Yo_]ana was -
mtroduced? ~

T~

2. O ﬁﬂm R @ iR ss_{ GRe
(afSTBr 100 *FR foee) - 4x4=16

Write short notes on any four of the following
(within 100 words each) :

(@) T5% SHS AW
Swachh Bharat Abhiyan

(b) CRSII AW PRI
Rural Population in India

(c) &I STl A
Rural Indebtedness

(d) RIS ANRF IANIIT
Social Forestry in India

(e) SARTFETS Y- gRer

Role of Information technology i in Rural
Development
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oA ¢ifeCh1 2 Be] 500 v fsevs o :
Answer the following questions within 500 words

each :

3. (@ WRES [TRRA ApFrmE TR FH TS

)

4. (a)
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TN I U REFPRR SIS 41 |
GEEA SSE IR AR [ SRR | 6+6=12

Discuss the major constraints in the
implementation of poverty alleviation
programmes. Suggest the measures to
overcome them.

s/ Or

TREIT AR WRESR FRTR I F91 | SIS
IR TRES! AT SR 2 fear
A F1 | 7+5=12

Explain the causes of rural poverty in
India. Discuss the main features of the
poverty alleviation programmes of the
Government of India.

STAET @IS IEA CAA TF R
sz A INERAT 4T SIS I e

Critically describe the steps taken by
the Government for the development of
communication in the rural sector.

( Turn Qver )

12 .



(4)

e/ Or

(b) "SREHT A AR INTR AW TR

S. (a)

(b)
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A F9 1 AWRGT AR IWER Ty
TF I 02T T IQERANT ¢F I R

4911 8+4=19

Discuss’ the main problems of rural
transport system in India. Describe

the steps taken by the Government for

the development of transport in the
rural sector. -

SREHS AW AReM o P e winfez
TR IR RIS TR R 24 e
G <47 |

Discuss the major constraints in the
implementation of rural women and

child welfare programmes operated in -

India.
%31/ Or
SRes HEE  WRTR SR Smew

AT STSRTGRT |

Examine the role of Sarva Shiksha
Abhiyan in Irdia.

12

12
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6. (@) SRS WORA RTA FoWq SRR A4
AR SCEe 301 AR e S
FooR ERTAR D1 TR TrEy ¥ 1 10+3=13

Discuss the main features of the Family
Welfare Programmes of the Government
of India. Mention three reasons for

. which family welfare programme is not
successful. :

91y / Or

(bj Wmmﬁmgﬁmmm
[ A T WA RFEepE e
F 10+3=13

Discuss the role of Rural Health Mission
in India. Discuss the failures of the
Rural Health Mission.
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